E———l

SHEET
METAL

SHEET METAL

25-40 50TH AVE

LoNG IsLaND CiTy, NY 11101

P: 718-433-2501

F: 718-433-2709
ESTIMATING@BBSHEETMETAL.COM

N

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

ACM 3000 ATTACHMENT SYSTEM
TYPICAL STARTER

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

COMPOSITE ALUMINUM PANEL

SNAP-IN SILICONE GASKET
ACM U-CHANNEL

ACM 3000 ATTACHMENT SYSTEM
BASE CONNECTOR

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

COMPOSITE ALUMINUM PANEL

WATER BARRIER
BY OTHERS

SHEATHING
BY OTHERS

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

-

BLOCKING/FURRING
IF APPLICABLE

Coping Detail-1

BY OTHERS

[T~~~ ROOFING MEMBRANE

BY OTHERS

#10-16X§" LG HWH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL/STRAPPING
@16"0.C. MAX. FIELD INSTALLED

BY INSTALLER

#10-16X§" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

#10-16X1/4" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A
SCREW IF ' MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER




S H E E I 25-40 50TH AVE - e
LonNG IsLanp City, NY 11101 qg B

P: 718-433-2501

: L ME' I ' AI F: 718-433-2709
_—l ESTIMATING@BBSHEETMETAL.COM

SHEET METAL

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS

ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER) 7

ACM 3000 ATTACHMENT SYSTEM
TYPICAL STARTER

BACKER ROD & SEALANT
BY OTHERS

N

\

COMPOSITE ALUMINUM PANEL | METAL FLASHING

. Il

| [T~~~ ROOFING MEMBRANE

BY OTHERS

\

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

5/8,

#10-16X§" LG HWH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL/STRAPPING
@16"0.C. MAX. FIELD INSTALLED

BY INSTALLER

#10-16X§" LG PFH TEX 3 SCREW

SNAP-IN SILICONE GASKET

ACM U-CHANNEL

ACM 3000 ATTACHMENT SYSTEM

N

BASE CONNECTOR INSTALLED @ EVERY CHANNEL
STANDARD DEPTH FROM @16"0.C. MAX. FIELD INSTALLED
PANEL FACE TO BY INSTALLER

WALL/PANEL SUPPORT SURFACE
#10-16X1/4" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A
SCREW IF ' MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

COMPOSITE ALUMINUM PANEL

WATER BARRIER
BY OTHERS

SHEATHING
BY OTHERS

VAN

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

Coping Detail-2




SHEET sz .
LonNaG IsLaAND CiITY, NY 11101 qg B
P: 718-433-2501 SHEET METAL

: L ME' I ' AI F: 718-433-2709 —
v ESTIMATING@BBSHEETMETAL.COM "

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER) ___ '

PANEL OVER 24" SUPPORTED
WITH U-SHAPE STIFFENERS
ATTACHED WITH CAULKING

\

/ oo

AV

CONTINUQOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

COMPOSITE ALUMINUM PANEL —/ @ J

#10-16¥¢" LG HWH TEX 3 SCREW
SNAP-IN SILICONE GASKET \ INSTALLED @ EVERY CHANNEL/STRAPPING
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

#10-16X§" LG PFH TEX 3 SCREW

\ INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

#10-16X1)4" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A

SCREW IF " MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

ACM U-CHANNEL

ACM 3000 ATTACHMENT SYSTEM /

BASE CONNECTOR

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

COMPOSITE ALUMINUM PANEL

BY OTHERS

SHEATHING
BY OTHERS

7
wieR sieen |
T
T

16 GA. MIN. METAL STUDS @24'0.C. MAX.
BY OTHERS '

Typical Horizontal Joint Detail




SHEET =ox
LoNG IsLanND CiTy, NY 11101 ng
P: 718-433-2501 SI-IEET METAL

3 == F: 718-433-2709
—_— ESTIMATING@BBSHEETMETAL.COM

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

SNAP-IN SILICONE GASKET

ACM U-CHANNEL
ACM 3000 ATTACHMENT SYSTEM
BASE CONNECTOR

STANDARD DEPTH FROM

PANEL FACE TO
COMPOSITE ALUMINUM PANEL \WALL/PANEL SUPPORT SURFACE \

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

&
#10-16X¢" LG PFH TEX 3 SCREW PANEL OVER 24" SUPPORTED
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED WITH U-SHAPE STIFFENERS
BY INSTALLER ATTACHED WITH CAULKING

WATER BARRIER _— e e e e e e e
BY OTHERS

SHEATHING o0

BY OTHERS

#10-16X14" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A

SCREW IF 4" MIN. PLYWOOD IS USED

FIELD INSTALLED BY INSTALLER /

16 GA. MIN. METAL STUDS @16"0.C. MAX. 16” O.C. MAX.
BY OTHERS

Typical Vertical Joint Detail




=6 =

25-40 50TH AVE

LoNG IsLAND CiTY, NY 11101

P: 718-433-2501

F: 718-433-2709
ESTIMATING@BBSHEETMETAL.COM

SHEET
METAL

SI-IE ETM ETAI.

_==—l———

16 GA. MIN. METAL STUDS @16"0.C. MAX.
(NOT BY ESTOLGA)
(SEE "CHANNEL-STRAPPING ELEVATION" DRAWING)

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS

ARE NOT PLUMB OR LEVEL.

SHIMS (BY INSTALLER)

CONTINUOUS 16 GA. STEEL

HAT CHANNEL MIN. 16 GA. LOCATED
VERTICALLY @16"0.C. MAX.

(NOT BY ESTOLGA) (SEE "CHANNEL-
STRAPPIN ELEVATION" DRAWING)

#10-16X3" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL

@16"0.C. MAX. FIELD INSTALLED N

BY INSTALLER

#10-16X1J4" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A
SCREW IF & MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

™

— ™

\ SHEATHING

- BY OTHERS
WATER BARRIER

BY OTHERS

| |

N L
/_

Canopy Detail

| J_ \__ ACM 3000 ATTACHMENT SYSTEM
| mi % BASE CONNECTOR

ACM U-CHANNEL
SNAP-IN SILICONE GASKET

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

COMPOSITE ALUMINUM PANEL

ACM 3000 ATTACHMENT SYSTEM
TYPICAL STARTER

BACKER ROD & SEALANT
BY OTHERS

METAL FLASHING

WINDOW SYSTEM
BY OTHERS




S H E E I 25-40 50TH AVE - y
Long IsLanp City, NY 11101 ng B

P: 718-433-2501 SHEET ME TAL

: LI F: 718-433-2709 > 73
v ESTIMATING@BBSHEETMETAL.COM 3

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

SHEATHING
BY OTHERS

WATER BARRIER
BY OTHERS

COMPOSITE ALUMINUM PANEL

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

#10-16X1%" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL

STUD @16"0.C. MAX. OR TYPE A
/_ SCREW IF 4" MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

#10-16X§" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

ACM 3000 ATTACHMENT SYSTEM
TYPICAL STARTER

BACKER ROD & SEALANT
BY OTHERS

N

v/ /L )

METAL FLASHING

WINDOW SYSTEM
BY OTHERS

/.

Window Head Detail




- S H E E T 25-40 50TH AVE ? k
LonNG IsLanD CiTy, NY 11101 ng
P: 718-433-2501 SI-IEET METAL
‘ H M E TA L F: 718-433-2709 :
—_—— ESTIMATING@BBSHEETMETAL.COM B

CONTRACTOR NOTE:

ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS

ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

E R\
WINDOW SYSTEM _—_—\
BY OTHERS L E i — —
METAL FLASHING
] #10-16X§" LG PFH TEX 3 SCREW
é [~~~ INSTALLED @ EVERY CHANNEL
3000 ATTACHMENT SYSTEM Elm= @16"0.C. MAX. FIELD INSTALLED
TYPICAL STARTER J BY INSTALLER
-'—1;/2' 7/8’ :“— ;\\ #10-16X1)4" LG HWH TEX 3 SCREW
CONTINUOUS STEEL HAT"CHANNEL \ INSTALLED @ EVERY VERTICAL METAL
LOCATED VERTICALLY @24"0.C. MAX. J STUD @16"0.C. MAX. OR TYPE A
SCREW IF §" MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER
STANDARD DEPTH FROM |
PANEL FACE TO

WALL/PANEL SUPPORT SURFACE

COMPOSITE ALUMINUM PANEL

WATER BARRIER
BY OTHERS
SHEATHING
BY OTHERS |

VAN
\

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS)

Window Sill Detail




SHEET
METAL

= 6 =

25-40 50TH AVE

LoNG IsLAND CiTy, NY 11101

P: 718-433-2501

F: 718-433-2709
ESTIMATING@BBSHEETMETAL.COM

EI-IE ETM ETAI.

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

BACKER ROD & SEALANT
BY OTHERS

ACM 3000 ATTACHMENT SYSTEM

#10-16X%" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL

TYPICAL STARTER @16"0.C. MAX. FIELD INSTALLED
STANDARD DEPTH FROM BY INSTALLER
PANEL FACE TO ,
COMPOSITE ALUMINUM PANEL WALL/PANEL SUPPORT SURFACE % = WINDOW SYSTEM
\ / BY OTHERS
CONTINUOUS STEEL HAT CHANNEL | 7
LOCATED VERTICALLY @24"0.C. MAX. 116” =
WATER BARRIER - -
BY OTHERS %'
SHEATHING == == == == T
BY OTHERS ~

#10-16X1)4" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A

SCREW IF 4" MIN. PLYWOOD IS USED

FIELD INSTALLED BY INSTALLER

16” O.C. MAX.

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

Window Jamb Detail




SHEET s
LoNG IsLanp City, NYY 11101 g IB
P: 718-433-2501 SHEET META‘I.

F: 718-433-2709
ESTIMAT]NG@BBSHEETMETAL.COM

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

SHEATHING
BY OTHERS

WATER BARRIER
BY OTHERS

COMPOSITE ALUMINUM PANEL

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

#10-16X1%" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL

STUD @16"0.C. MAX. OR TYPE A
— SCREW IF§" MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

#10-16X§" LG PFH TEX 3 SCREW

ACM 3000 ATTACHMENT SYSTEM INSTALLED @ EVERY CHANNEL

TYPICAL STARTER @16"0.C. MAX. FIELD INSTALLED
L BY INSTALLER
BACKER ROD & SEALANT
BY OTHERS

AGAL

Plan Detail @ Adjacent Wall




—_——

SHEET
METAL

25-40 50TH AVE

LoNG IsLAaND CiTy, NY 11101

P: 718-433-2501

F: 718-433-2709
ESTIMATING@BBSHEETMETAL.COM

SHEET METAL

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

ACM U-CHANNEL
ACM 3000 ATTACHMENT SYSTEM
BASE CONNECTOR
STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE \

SHEATHING

|
BY OTHERS ~ ~~_| \
\

WATER BARRIER

BY OTHERS ~ |
COMPOSITE ALUMINUM PANEL —_

N

//
/

LOCATED VERTICALLY @24"0.C. MAX. \

|
|
CONTINUOUS STEEL HAT CHANNEL ‘
|
|

SNAP-IN SILICONE GASKET

AV 'y AV AW

16* O.C.
MAX.

#10-16X14" LG HWH TEX 3 SCREW

| INSTALLED @ EVERY VERTICAL METAL
~~— STUD @16"0.C. MAX. OR TYPE A
SCREW IF$" MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

A

[
]
/

#10-16X3" LG PFH TEX 3 SCREW
N INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

16” O.C. MAX.

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

Inside Corner Detail




_—l—

SHEET
METAL

7\
= 160 =

25-40 501H AVE

LonNG IsLaND CiTy, NY 11101

P: 718-433-2501

F: 718-433-2709
ESTIMATING@BBSHEETMETAL.COM

EI-IE ETM ETAI.

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

#10-16X1%" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A
SCREW IF$" MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

#10-16X3" LG HWH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

#10-16X3" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER

\

16* 0O.C.
MAX.

. J /]

e

L

.

__1}/21_.
=~

WATER BARRIER
BY OTHERS

SHEATHING
BY OTHERS

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

COMPOSITE ALUMINUM PANEL

VERTICAL STRAPPING
LOCATED HORIZONTALLY @24"0.C. TYP.

&

N SNAP-IN SILICONE GASKET
ACM U-CHANNEL

ACM 3000 ATTACHMENT SYSTEM
BASE CONNECTOR

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

ALL CORNERS SUPPORTED
WITH .040" MILL FINISH
ALUMINUM

Outside Corner Detail




_———

SHEET
METAL

25-40 50TH AVE

LonNG IsLaND CiITYy, NY 11101

P: 718-433-2501
F: 718-433-2709

ESTIMATING@BBSHEETMETAL.COM

AN
@rEl

EI-IEET METAI.

CONTRACTOR NOTE:
ALL WALLS ARE TO BE PLUMB
& LEVEL. INSTALLER TO USE
NECESSARY SHIMS IF WALLS
ARE NOT PLUMB OR LEVEL.
SHIMS (BY INSTALLER)

16 GA. MIN. METAL STUDS @16"0.C. MAX.
BY OTHERS

SHEATHING
BY OTHERS

WATER BARRIER
BY OTHER

COMPOSITE ALUMINUM PANEL

STANDARD DEPTH FROM
PANEL FACE TO
WALL/PANEL SUPPORT SURFACE

CONTINUOUS STEEL HAT CHANNEL
LOCATED VERTICALLY @24"0.C. MAX.

_,_1}/2,_| %

) 1] 1))
/

—

1 | L]
ACM 3000 ATTACHMENT SYSTEM
TYPICAL STARTER

{ L]
BACKER ROD & SEALANT

BY OTHERS |
% M
4 }
) 4
A % .
4 A
<
| <
< 4 4 4
<
4 a4 < 4
4 a 9 2
< 9 A

Base Detail

#10-16X14" LG HWH TEX 3 SCREW
INSTALLED @ EVERY VERTICAL METAL
STUD @16"0.C. MAX. OR TYPE A
SCREW IF " MIN. PLYWOOD IS USED
FIELD INSTALLED BY INSTALLER

#10-16X§" LG PFH TEX 3 SCREW
INSTALLED @ EVERY CHANNEL
@16"0.C. MAX. FIELD INSTALLED
BY INSTALLER




	Sheets and Views
	ACM_3000 DRY SEAL - DETAILS - B&B-Coping Detail-1
	ACM_3000 DRY SEAL - DETAILS - B&B-Coping Detail-2
	ACM_3000 DRY SEAL - DETAILS - B&B-Typical Horizontal Joint Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Typical Vertical Joint Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Canopy Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Window Head Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Window Sill Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Window Jamb Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Plan Detail @ Adjacent Wall
	ACM_3000 DRY SEAL - DETAILS - B&B-Inside Corner Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Outside Corner Detail
	ACM_3000 DRY SEAL - DETAILS - B&B-Base Detail


